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 y = x^2 -1

x y x0
1 -2 3 0,2 -2
2 -1,8 2,24
3 -1,6 1,56
4 -1,4 0,96
5 -1,2 0,44
6 -1 0
7 -0,8 -0,36
8 -0,6 -0,64
9 -0,4 -0,84

10 -0,2 -0,96
11 -2,7756E-16 -1
12 0,2 -0,96
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1)  
. : 

y = c0 + c1·t,  (1) 
 c0 – ; c1 – ,  

:  
 c1 > 0, ; 

 c1 < 0, ; 
2)  ( )  

.  
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y = c0 + c1·t + c2·t2, (2) 
 c0 – ; c1 – ,  

, c2 – ,  
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 c2 > 0 ; 

 c2 < 0 ; 
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3)  ( )  
 ( ) .  

 3  6, .: 
y = c0 + c1·t + c2·t2 + c3·t3+ c4·t4 + c5·t5 + c6·t6; (3) 
4) ,  

.  
: 

y = c0 · ln t + c1, (4) 
5)  

: 
y = c0 · e t; (5) 

6)  – 
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y = c0 · t ; 
t
cy 1 . (6) 
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1983 303 
1984 406 
1985 203 
1986 304 
1987 308 
1988 342 
1989 319 
1990 405 
1991 636 
1992 666 
1993 467 
1994 504 
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2.  f(x) = 0. :  
  [a,b]  h; 
  y = f(x)  [a,b]  h; 
    y = f´(x)  [a,b]  h; 
 ; 
  x,  f(x)  
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1. x x3 104 02cos .  
2. 1 0

x
xcos  

3. lg x
x
1 02  

4. e xx 2 2 0  
5. 2 2 1 02x x  
6. 2 1 0ln x

x
 

7. e xx ( )1 02  

8. x x2
2

0cos  

 
1. . 
2. : 

a.  
b.  
c.  det A=… 
d. : , . det A  0. 
e. .   

: . ( -1 *x= -1 ;  E*x = -1 ; x = -1 ;  ) 
f. -1.   
g.  ( -1 ) 
h.  
i.  

3.  
4.  

 
1. 2. 
4,5x1 + 3,5x2 + 7,4x3 = 2,5 5,4x1 - 2,3x2 + 3,4x3 = -3,5 
3,1x1 - 0,6x2 + 2,3x3 = -1,5 4,2x1 + 1,7x2 - 2,3x3 = 2,7 
0,8x1 + 7,4x2  - 0,5x3 = 6,4 3,4x1 + 2,4x2 + 7,4x3 = 1,9 
 
3. 4. 
3,7x1 - 2,3x2 + 4,5x3 = 2,4 4,1x1 + 3,2x2 + 2,1x3 = 0,5 
2,5x1 + 4,7x2 - 7,8x3 = 3,5 4,5x1 + 3,5x2 - 7,3x3 = -3,5 
1,6x1 + 5,3x2 + 1,3x3 = -2,4 0,5x1 + 3,5x2 + 1,4x3 = 2,5 
 
5. 6. 
5,6x1 - 5,2x2 + 1,3x3 = 3,4 6,5x1 - 1,4x2 + 3,4x3 = 4,5 
1,6x1 - 5,3x2 + 1,3x3 = -1,9 0,7x1 - 3,3x2 + 7,7x3 = -2,2 
-0,6x1 + 5,2x2 + 7,3x3 = 3,3 0,5x1 + 3,5x2 - 7,4x3 = 5,5 
 


